3agaua A:
10

3agauya B:
program pirog;
var n, k : integer;
begin
readin(n);
ki=n+1;
if n<>0 then
begin
if (k) mod 2 = 0 then writeln((k)/2);
if (k) mod 2 <> 0 then writeln(k);
end
else write(0);

end.

3apaua C:
program vichitanie;
var a, n, i: integer;
begin
readIn(a);
readin(n);
fori:=1tondo
begin
if (a mod 10)=0 then a:=a div 10 else a:=a-1;
end;
writeln(a);

end.

3amaua D:
program igra;
var a, d, v: integer;

begin



readIn(a);

readin(d);

readin(v);

if (a>d) and (a>Vv) then write('A";

if (d>a) and (d>V) then write('D");

if (v>a) and (v>d) then write('V');

if (a=d) and (d=v) then write('=");

if (a=d) and (d>v) then write('A D');
if (a=d) and (d<v) then write('V");

if (a=v) and (v>d) then write(A V");
if (a=v) and (v<d) then write('D’);

if (d=v) and (d>a) then write('D V");
if (d=v) and (d<a) then write('A");

end.

3agaua E:
program igra;
varn, a, b, ¢, k : integer;
begin
readIn(n);
a:=ndiv 10;
b:=n mod 100;
¢:=((n div 100)*10)+ (n mod 10);
if a>=b then k:=a else k:=b;
if k>=c then writeln(K) else writeln(c);

end.



